THSHFE REAKEMXFE BFEHEREEH)

A)—45 I B2 I B4t I B2 2 #K B | Beok | Stk | Ly | BB | 8B5S |fors ER
2% - 15 (25 - 12|
I B& 2025 - 14| o0|2|25 - 190 2 1
(15 - 25 (26 - 24]
IFEdL o1 - 252 225 - 170 1 2
(12 - 5] 24 - 26
IEEE AR [o]19 - 25/ 2 017 - 252 0 3
Bl)—% EB FEI =H B | Bhob | fuok | worE | 888 | 858 | RorE| B
2% - 12 [25 - 0]
EB 2025 - 100|225 - 12/0| 2 1
(12 - 5] [20 - 25]
PEI 0|10 - 252 0|20 - 252 0 3
[0 - 25| 5 - 2
=H 0|12 - 25| 2|22 - 2] 0 1 2
cy)—4 Ik B R I8 1Ly %R B B | Beok | Stk | turEk | 8B | 858 |fors B
2% - 7 2%5 - 21
Ik B2 B 115 - 25]2 1119 - 25/ 2| 0 4
17 - 25 21 - 25
7 - 25 2% - 22
7 1Ly 2025 - 15| 1 112 - 25| 2 1 3 3 | 100% 2
2% - 17 18 - 25
2 - 25 25 - 20
hn#hk 225 - 12]1 2|25 - 12/0]| 2 1
2%5 - 18 -
(21 - 2 20 - 25|
(N 2|25 - 19| 1 0|12 - 252 1 2 3 66% 3
R - _|
Ad—Fpk B HHE Ba—Fk B WA
E1HE RE v KR | IKBERH g1HE | IKER v KRIL (o#-ES
EPENS RR w P5EI EH ERE mE# v EH/ |EER-EWL
E3HE IRE v KRR | IREI g3Ee | IKEE v  BA |-kl
g4 ER v EH PS5 Bt mEw v BRI (REE-ES
E e IR v HBREHK| KB
goida | PBL w B &R
BREHIGH| A)—5 (3] :2-E4 B)—4| E& =H CY—4| i g Ly
i3 B Kk B & I B I ¥ k B OE fE 53 3] T
BRE#EIR =3 B s B hn h 3 B i = H 53 i}




